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@ 3x=0

DO 2x-3=x+2

@ 6x+3=3(1+2x)

@ x-1=1-x

® 3(x+2)=4x+38
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o5 & vt 92 =R o2 AL

O xofl2E g AL32 e A 5 x+2+3
@ x o2& "t A 3 Hi — 3(x+2)

® x 9 W 58 HF A 2 +5

@ A% 5km 2 a A7 2T 712] - 5a(km)

® A9 A1e] A7t a, Ao AFe] A7 b Q) F A S
— 10a + b



® 2a-3

@ -a+2

@ 3a

@ 14+a2



2x—2

@ 2(x-1)

® x=0

@ 2x2-3x+1=2(x2-1)

® 2x-3=5+2x

® 3x(x-1)

x—1



O x+y=25 @ x+(x+1)=25
® x+2x=25 @ x=2x

B) x4+ 925 = 2x



A1e] Aale] 547} 491 5 22 o] FA%57E 9k o] ZA%o] Ao
Apale] s2}e} oo x}aq 272 U A% A8 Se] 2ufr )
4R AT} AL A4A%0] Ao Aale] £4E x 2t & ), Ohg &

B A2

@® 24+x)=x+4+4 @ 2(40+ x) = 10x + 4 + 4
® 8x=x+4+4 @ 2(40+x) +4=10x+4

B 4x+4=10x+4



@ 0.05 x 600 + x = 0.04(600 + x)
@ 0.05 x 600 = 0.04(600 + x)

® 0.05 x (600 + x) = 0.04(600 + x)
@ 0.04 x 600 = 0.05(600 + x)

B 600+ x=4
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12. A=-3x+y, B=x-y¥< W, A 24-4A-B)Ex y

Aoz tehyolat.

O -2x+4y

@ 10x + 6y

@ 6x -6y

® 10x - 6y

® 6x— 10y
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14. A=2x-4,B=3-x Y u, 5A +B-3(A-B) & A4tstoiat,
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15. of® AelA 2x +

5 2 gaflof oF AL FEa)A melEL] 4x — 6 ©]
=oich & A4t

D 4x-6 @ 6x-1 ® 6x+3



16. S ax-3=2(x-1)+b 7} xo st 5L o, a - b °] TS
“Fotod et

Eia-b=



@ 2(x+1)=3x-4

@ Tx+1=2x+3
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